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2 FIRAEOCHE

(1) BEMHEK (B AN)

X5 e X1 THM2FE | %1 FM3FE DMAEE TS &FE
s D TAYR oYY AN 6,816 9,979 8, 041 8,214
EABHEVZ— | RIBWIT AN 23, 355 21, 497 29,183 28, 259
RIGTHIiLL oW Y it 9,671 8, 886 12,313 11,158
ZEANEEZ— INE 39, 842 36, 362 49, 537 47, 631
RIBTHIIVOFEHY i 1,189 6, 718 9,742 %2 6,459
RBHIDEEHE 6, 480 6, 443 9,062 9,671
RBHIIS < bt 4,129 3, 531 4,460 4,259

ZAEOR

RIGTILRE T 1,328 6, 690 8,720 9,488
RIEHIIDDLiE 5,358 4,540 9, 956 6, 128
RBHIFHROEDY 8,879 8, 236 11,397 12,073
ZABEDOR IE 39, 363 36, 158 49, 337 48, 084
= 19, 205 12,520 98,874 95, 715

X1

T2 FE - 107 BRE (4/10~5/31, 12/29~2/21)
X2 BMAKIZKY., SHMOSF1T A0 ALTMO6E2 A2 BFETHKEE, 6. 2A 26 BN 5 2 EEBH DHEHEE,
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FEIOFIAMIVABRREILKRIEDT-, ROMAE ZEFRAREE LT=,
S 3EE - 103 B (4/26~6/7. 8/271~9/12, 1/23~3/6)




(2) EDFMEER (BAL - A)
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RIGTHIHDEGE 3, 741 3, 158 5,105 5, 561

ZABEDR

RIGMIXRiE 9,938 9, 199 1,883 1,702
ZANBEDR INE 9,285 9,517 12,988 13, 263
&t 19, 321 19, 690 25,599 217, 946

KPR AOF VAN RABREETLKRGLLD -, ROAMZEFRAEES L=,

2 FE - 107 BRE (4/10~5/31, 12/29~2/21)

S EE 103 BE (4/26~6/7. 8/271~9/12, 1/23~3/6)
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